All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)
Trade Name: Fitter_Year 2
Year: 2nd Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Max Marks :

150

NSZ Client S)u estion Question Body and Alternatives

Trade Theory

1 Which grade slip gauge is used for precision tool room applications?

ORI oo =0 Sy & o e 31 & e 79 &1 SuanT foraT ST 82

,A ! Grade 00

Grade 00

52 Grade 0

Grade 0
5A3 Grade I
Grade |
:A4 Grade II

Grade 11
Trade Theory

2 Which material is used to make slip gauge block?

RTT 7ot sefiep - o o b A R 1 ST fosar Sire &2

.A] Tool steel
RSN
.AZ Low grade steel

RIPERE]

.A3 High grade steel with low thermal expansion

KPR

54 High carbon steel

I BET KA

Trade Theory

3 Which finishing operation is performed by the tool that rotate and reciprocate simultaneously?

P11 IR SRR B, T T1Y- 1Y 7 e 3R IRsidhe arar e -

A Drilling
fferm
{\2 Honing
s
:AS Lapping
Afthr
:A4 Grinding
AR

Trade Theory

Marks

2.0

2.0

2.0

Negative
Marks

0.00

0.00

0.00



What is lapping?

AT RTE 2

:A] Filing operation
TR SfuRe
‘:AZ Grinding operation
TrEfET sffovem
‘:A3 Chiselling operation
TRrgIferT affav=
f\4 Precision finishing operation
ORI AR st
Trade Theory

What is the name of lap tool?
Y AU ¢ T AT 182

Al golit bush lap
Rae guau
A2 Adjustable ring lap

UseeTd a1 dg

63 Adjustable solid lap

TSoReqd Hifers o

A4 Charging cylindrical lap

iffT Rifafesa o

Trade Theory

What is marked as ‘X’?7
RfRafRa e x ym eI wT R

20 0,00
20 0.0
fl
f
Il

20 0,00

Al Length

GES

62 Depth surface

S WBI



AS Contact rollers

Ficae e
A% Width
Trade Theory
‘What is marked as ‘X’?
fafa fosd mw ~x> YT 1 AT R Y
B

O
00

%

A

! Height of slip gauge

U e &)

A2

.7 Length of sine bar

e IR B! a1

A

. 3 Datum surface

S WHY

64 Adjacent side

e 958

What is the height of slip gauge (q = 25° = 0.4226)?

59 &0 o 1 G fobarit 820 =25 © = 0.4226)

Trade 'l"j]}e—(;yi

!

Q
QO

FING1 12723

Al 4126
4126

A2 1226

4226
A3 4306
4326

A% 4426

44.26

Trade Theory

What is the grade of slip gauges are used for inspection purpose?

e & Seza 3 w791 & forg s &1 IuaT fova S 32

2.0

2.0

2.0

0.00



:Al Grade I accuracy
Grade I accuracy
:A2 Grade ‘0’ accuracy
Grade ‘0’ accuracy
A3 Grade ‘00’ accuracy
Grade ‘00’ accuracy

,A4 Grade II accuracy

Grade I accuracy
Trade Theory
What is the method of build of size using slip gauge?

U A &1 IuAT B 1 A R

poooi

Joood

FE 128513

,Al Wringing
faf=im
Sliding
53 Glazing

TG

A2

54 Loading
E 3‘
Trade Theory

What is the finishing process carried out with abrasive sticks to correct the profile of internal cylindrical surfaces?

3TN R d B Y STIHR g &b MhIsd B! Jal b ol bR ufhar qar g2

.Al Lapping
aft
{%2 Honing
_A3 Grinding
A% Filing
Trade Theory

Which is the hardest of all abrasive material and used for lapping tungsten carbide?

TR HETgS & AfthT & for wgad et sroefes vl & 9§ 9ad FER S A 32

.Al Silicon carbide



R Feies

'AZ Boron carbide

IR FEgS

{U Diamond

_A4 Aluminium oxide

TgHI R SHiess

What is the name of instrument?

Y T BT T T2

Trade Theory
2.0

_Al Depth vernier gauge
SR AT

A2 Vernier height gauge
ffR gge I

_A3 Clamp type height gauge

EREEIEE I

A4 . s

. Height gauge with slip gauge holder

7T 191 BieeR & 1Y BI8e W

Trade Theory

What grade of slip gauge is used in general workshop? 2.0

I ST | b 3e ) Ry 71 1 IuahT fba ot 82

,Al Grade I accuracy
Grade I accuracy
A2

7 Grade II accuracy

Grade II accuracy
A

3 Grade ‘0’ accuracy
Grade ‘0’ accuracy
54 Grade ‘00’ accuracy

Grade ‘00" accuracy

What is the method of surface hardening?’

WY S 37 &1 A w32

Trade Theory
2.0



FINVIMAO

fM Nitriding

_AZ Pack - carburising

U - BIERRAT

A:’ Flame hardening

R BISHT

64 Induction hardening

Trade Theory

‘What is the process to refine the structure of stecl component?

Wl U B U b1 URSpd DI B Ulh T 182

{\1 Tempering
i

'AZ Annealing

{\3 Hardening

A4 Normalising

Trade Theory

Which method of surface hardeningis done in a heated salt bath?

T Hiee Ty A HH ARG 8IS 11 1 fafdy ) St 82

_Al Flame hardening
{\2 Gas carburising
9 HrgRRi
Pack carburising
Yo-rghfim

.A4 Liquid carburising

ffe s iR

A3

Trade Theory

Which method of heat treatment to improve machinability and ductility in the job?

ST IUER BT I T I gRT b Wi A w=iieRon ok sfFefdt &1 gur g

,Al Annealing

I

2.0

2.0

0.00

0.00



AZ Hardening
{\3 Tempering
A4 Normalizing

Trade Theory

What is the disadvantage of flame hardening in the heat treatment process?

g At ufthar & v i &1 Jhar a1 32

.A ! More distortion

siferes fagpfa

52 Long hardening time

QIS Ty Sa1eT g

Small depth of hardening

TSR Y 1 T

54 Not suitable for small workpieces

BIe qehUIY o AL Iuged T8l §

A3

Trade Theory

What is the name of method in metallic coating done by rolling or drawing the layers of metal onthe base metal?

Y Ned R Hed &1 TRdl Bl Ad 1 A0y Wi & gRT T W eifdes wifeT &R i fafer o1 =m0 om 32

fM Spraying
A2 Cladding
Fafg

_A3 Enamelling

g

54 Molten metal bath

Hieed Acd 1Y

Trade Theory
Which type of key used if the hub of pulley has to axially slide on the shaft to some distance?

T 59 1 Yoot ] 24efia TU A PO gl 9P U W WSS BT 8, ol 6 F UDR o1 il b SUANT b Wirell 82

fM Feather key

R Bt

52 Flat saddle key
wRIT IS B

_A3 Circular taper key

THAR TR B

4 Hallow saddle key

ERIGERE]

A

Trade Theory

What is the purpose of normalising?

Ao B T IR T 32

Add cutting ability

PIe BT AT ST

Al



AZ Develop high hardness
I HORAT BT [qHN HIAT

A3 .
. Increase wear resistance

oA & Uiy &1 581y

4 .
A Remove stress and strain

Y 3R RA B R AT
Trade Theory
23 23 Which structure of steel contain 0% carbon?

el B fbg W= H 0% DT glell 82

.A ! Ferrite
52 Pearlite

TrRarRe

53 Austenite
54 Cementite
Trade Theory

24 24 What is the name of key?
TP HIAH RIS

FINS12E

{\1 Parallel sunk key
Naa da o
Gibthead key

e gs ot

{\3 Wood ruff key

A2

IS B
54 Tapper sunk key
TR IS B
Trade Theory
25 25 What is the purpose of annealing?

TR T g 182

.Al To soften the steel

e B RE B & forg

A2 75 add cutting ability

PTC BI GHAT SIS o o




A3 . )
. To increase wear resistance
forem & ufaRly &) sg & forg

54 To refine the grain structure of the steel

e P19 a1 b1 RobTg B3 & ferg
Trade Theory

What is the name if hot steel cooled rapidly to form a new structure?

Teh 7 G &9 & forw aolt F ST 81 a1l T et b1 T 1 82

Al Ferrite
e

_Az Austenite

53 Martensite

54 Pearlite

[ERRGIE

Trade Theory

What is the process to add cutting ability and wear resistance on steel?

PIe B & B Siie 3R Ta IR o/ 1 TRy I B 1 ufehar 82

_Al Tempering
52 Annealing
{\3 Normalising

_A4 Hardening

Trade Theory

How the mechanical properties of steel like strength, toughness, ductility are affected?

WA & gifae i o R, fameT, sfacerd! 59 gvifdd g 82

Al By tempering
Ul g1
2 By hardening

BISHT & GRI
By annealing

TR & gRT
:A4 By normalising

A3 & gRY

A

A3

Trade Theory

What is the name of limit gauge?

39 fiftre IS 1 A R B2



:Al Plain ring gauge
LSERURI
:A2 Taper plug gauge
ELNSUEIE
:A3 Progressive plug gauge
RE =
4 Double ended plug gauge
EENATASHRIC

A

Trade Theory

What is the use of ring gauge?

1 71 1 IR T B2

Al Check hole diameter

B I B S HIAT
?'\2 Check shaft diameter

e T I ST Bl
:AS Check tapered shaft diameter
SR MR I B W14 HAT

_A4 Check internal thread diameter

TR VS T P Sird HIAT
Trade Theory

What is the name of the gauge?
11 1 H T 62

fM Ring gauge
[RIKIE]

A2

.~ Snap gauge

ELRiE]



A3 .
. Taper ring gauge
TR e
54 Internal thread gauge
ESSKPERIE
Trade Theory
What is the gauge used?

3G 71 BT JUTNT T 32

FANIMACR

:Al Thread ring gauge
o Rar e

:A2 Thread plug gauge
T U @ A

f\3 Screw pitch gauge

ECJEERIE]

A4 Thread caliper gauge

IS BRI

Trade TheZ)ry b

Why the double row roller bearing is used?

Saar 3 AeR a1 STk i foba S 82

A

! To take axial load

3efig 4R a9 & forg

52 To take radial load

fegd s o7 & firg

To take heavy axial load

URY 3iefig 4R o9 & g

54 To take heavy radial load

YT &I YR o1 & ferg

A3

Trade Theory
What is the name of bearing?

ERACpITURa R ke



/s

A

! Needle bearing
BISACHIR)
?'\2 Thrust ball bearing il
3% sl forafar i
:A3 Taper roller bearing
TR AR AT
?A4 Angular contact ball bearing
TR FTeae did [T
Trade Theory
35 35 What is the name of part marked ‘X’? 2.0 0.00

X & ¥ Y fafRd Wi &1 A | |

FI321023

_Al Ball case

CISEH
A2
. Innerrace
TR
_AS Outer race

IR

54 Ball separating gauge

it JoRfET 5
Trade Theory

36 |36 Which bearing material is used for light loading and low speed application? 2.0 0.00

qEC NS 3R HH T P TpTH & g S It foafer qrsh &1 Juhi fear siar 32

Al Cast iron

PIRE AR

52 Tin bronze

A s



37

38

39

37

38

39

AS Cadmium based alloy

Ty anenia fiyy erg

54 Copper and lead alloys

PIR 3R ofis forsy eng

Trade Theory

Which bearing carry the load parallel to its bearing axis?

T foafe o1 AT faafa srer & TRerel@HHIR) 81T 82

A

! Split bearing
Ryee foaf
.A2 Plain bearing

o faf

_A} Thrust bearing

e foafen

54 Radial bearing

fega faafer

Trade Theory

Which bearing material is best suited for hard journals?

TS il & forg I ! ferafir wefvare 9ot Sugs 82

_Al Sintered alloy

Rrex iy urg

52 Aluminium alloy

T iy g

{\3 Copper lead alloy

e i iy erg

_A4 Cadmium based alloy

Ty amenia firy erg

Workshop Calculation Science
What is the formula for circumference of acircle?

TP IR BTG Y

WSCN23L1Q56

Al

Tr
A2

2.0

2.0

2.0

0.00



40

41

40

41

d
A3

21r
A4

r

What is the formula for area of the circle?

T P &AHd b U GF R E?

Workshop Calculation Science

WSCN23L1Q7

Al

A2
Trr
A3

21r
A4

Which line is called as chord?
DI A BT ST HeT STl B2

Workshop Calculation Science

/_

>

WSCN23L2C20

Al gp

2.0

2.0



42

43

44

42

43

44

ED

A2 AB
AB
A3 op
oD

A4 op
OE

Workshop Calculation Science
Which type of stress?

D1 ufdeel 82

1
-

| .
N

WECN2EL1Q11

{\1 Tensile stress

EICRIGEL]

A2 .
.~ Compressive stress

gt ufded
{\3 Shear stress
ERERIRCR
64 Torsional stress
ERECRCIRCR]
Workshop Calculation Science

What is the unit of strain?

EEanEdREgEtIny

! Kg/cm2
Kg/cm2
2 Newton/metre?
Newton/metre?
{\3 Metre
Metre
?AA No unit
No unit

Workshop Calculation Science

Which symbol is used to express change in length?

TS H URad 1 b o 3 SISt 82

ALy
L
AZ 51

ol

2.0

2.0

2.0

0.00

0.00

0.00



A3

A4

Engineering Drawing
The head for boiler application's shown in the figure given below is

A fg e forr B faamg e SigeR TRHRA & RU RS R

EDNGH 6211007

Al
" snap

el
pan

bci

3 .
conical

A2

ADHIBR
4
steeple
e
Engineering | Dra\:ving
Riveted joints is a
Racg dge 8
1 ..
permanent joints
RIS IE
A2 .
. temporary joints
A i
3 .
semi permanent

3¢ Tt

# none of these
STHI B Tof
Engineering Drawing

Identify the given rivet.

fou e fkae & ygaH |



48

49

50

48

49

50

EDHG1 8211008

Snap head

ques

62 Flat head

Al

TAIE 68
,A3 Counter sunk
BER Gh

{\4 Pan head

wEs

Engineering Drawing

‘Which materials pipe is used for drainage pipe line?

I UTEUTEA & o foh Hefaet Urgy &1 SUGRT {33 i 82

A

! PVC pipe

PVCUIRY
.AZ Brass Pipe

diqer & Uy

A3 G Pipe

G.I. UIg9
_A4 Steel pipe
I 1 Usy

Engincering Drawing

Which of the following is used to block the pipe at one end?

g & 3 foget 1anT ursy ) U RR R T S & o o S 82

A

! Plug

T

AZ Union

g

{\3 Reducer

[REPG

A4 Couplings
B
Engineering Drawing

Which one of the following accommodates four pipes in a pipe fitting?

e & ¥ $19-91 T Uz i § IR urgul o) SRR a1 82

2.0

2.0

2.0

0.00



51

52

53

54

51

52

53

54

Al Union

52 Cross

1%

A3 Elbow

Employability Skills
Complete the sentence with suitable describing words It is a neighbourhood. One need not fear. 2.0
Complete the sentence with suitable describing words It is a neighbourhood. One need not fear.

,Al good

good
A2 big
big
53 safe
safe

expensive

expensive

Employability Skills

Complete the sentence with suitable describing words There isn’t any amusement park in the arca. Itisa___ place. 2.0
Complete the sentence with suitable describing words There isn’t any amusement park in the area. Itisa ____ place.

fM polluted
polluted
A2 dry
dry
A3 .
noisy
noisy
.A4 boring
boring
Employability Skills

Complete the sentence with suitable describing words There is a factory in the area. The air is . 2.0
Complete the sentence with suitable describing words There is a factory in the area. The air is

Al

polluted
AZ boring
boring
3
uneven
uneven
A4
noisy

noisy
Employability Skills

Complete the sentence with suitable describing words There is water scarcity in the locality. The area is . 2.0
Complete the sentence with suitable describing words There is water scarcity in the locality. The area is

1
uneven

0.00

0.00

0.00



uneven
2 .
noisy
noisy
53 dry
dry
_A4 boring
boring
Employability Skills

Complete the sentence with suitable describing words The transportation to some rural areas is difficult as the roads
arce

Complete the sentence with suitable describing words The transportation to some rural areas is difficult as the roads
are

fM dry

dry

{\2 polluted
polluted

‘_A3 boring
boring

4

uneven

uneven
Employability Skills

What help us to maintain the balance between mental and physical activities?
‘What help us to maintain the balance between mental and physical activitics?

A

! Hobbies
Hobbies
.A2 Running
Running
f% Walking
Walking
.A4 Reading
Reading
Employability Skills
When you meet the instructor inside or outside the ITI, it is....
When you meet the instructor inside or outside the ITI, it is....
! always formal
always formal
‘_AZ . formal inside the ITI
. formal inside the ITI
3 informal the ITI
informal the ITI
4. .
informal outside

informal outside

Employability Skills
Role models people to follow them
Role models people to follow them
! elevate

elevate



2.
nstruct
instruct

3. .
inspire
inspire

4 .
motivate

motivate
Employability Skills

59 59 Spoken communication is usually not only but also

Spoken communication is usually not only but also

f\l formal, informal
formal, informal
2 verbal, nonverbal
verbal, nonverbal
3 verbal, informal
verbal, informal
A4

- formal, nonverbal

formal, nonverbal
Employability Skills
60 60 The immediate surroundings to the place you live in is called
The immediate surroundings to the place you live in is called

! village
village
,Az town
town
53 city
city
4 .
neighbourhood

neighbourhood
Employability Skills

61 61 The conditions in a place that affect the behaviour and development of somebody or something is called
The conditions in a place that affect the behaviour and development of somebody or something is called

fM neighbourhood
neighbourhood
2 .
environment
environment
‘_AS locality
locality
A4 g cilities
facilities
Employability Skills

62 62 Which kind of persons are with very good behaviour, achievements and lead as an example?
Which kind of persons are with very good behaviour, achievements and lead as an example?

1 . .
customer service executives

customer service executives

'AZ ITI instructors




ITI instructors
_A3 role models
role models
4 )
sales supervisors

sales supervisors
Employability Skills
----the park.

----the park.

1 are, next to

are, next to
2.
is, next to
is, next to
is, next
is, next
A4
77 are, next

are, next
Employability Skills

Rainwater harvesting ------------- to prevent water scarcity
Rainwater harvesting ------------- to prevent water scarcity

Al .

. gives
gives

2

gave
gave

63 help
help

‘_A4 helps

helps
Employability Skills

Identify the opposites. clean x --- ---, healthy x ----

Identify the opposites. clean x =-- ---, healthy x ----

_Al dirty, health
dirty, health
A% dirty, healhy
~dirty, healthy
:AB dirt; unhealthy
dirt, unhealthy
A4 dirty, unhealthy

dirty, unhealthy
Employability Skills

Which one is not an adventure?
Which one is not an adventure?

! climbing mountains
climbing mountains
.AZ trekking

trekking



67

68

69

70

67

68

69

70

3 surfing

surfing

:A4 driving

driving
Employability Skills

Travelling in the sea is called a
Travelling in the sea is called a

! voyage
voyage
f\Z boating
boating
f\S fishing
fishing
A4

. tour

tour
Employability Skills

There are many dos and don’ts to be --------while preparing for/ attending an
There are many dos and don’ts to be --------while preparing for/ attending an

_Al there, interview

there, interview
.A2 identify,
identify,

3. . . .
identified, interviewed
identified, interviewed

54 identified, interview

identified, interview
Employability Skills

your mobile phone ----- silent mode.
your mobile phone ----= silent mode.

know, in

52 know, of

know;, of
A

F keep, in
keep, in
‘_A4 keep, of

keep, of
Employability Skills
The Everest, the -------m-m-memmmx peak in the world, ----------- in Tibet.
The Everest, the -=--=--=-nm-meun- peak in the world, ----------- in Tibet.

Al pioh is
high, is

:A2 higher, is
higher, is

'A3 highest, are

2.0

2.0

2.0

2.0

0.00

0.00

0.00

0.00



71

72

73

74

71

72

73

74

highest, are
54 highest, is

highest, is

Employability Skills

Which language is essential to become a Computer professional?

Which language is essential to become a Computer professional?

_Al Mother tongue

Mother tongue
:A2 Chinese
Chinese
:A3 English
English
A% Hindi
Hindi

Which is the Synonym for "loyal"?
Which is the Synonym for "loyal"?

'Al Faithful

Faithful
éz Prosperous

Prosperous
?Ad Utopian

Utopian
fM Perfect

Perfect

Employability Skills

_Employability Skills

When you speak to your supervisor, you should be
When you speak to your supervisor, you should be

{\1 Aggressive
Aggressive

.AZ Formal
Formal

?AS Informal
Informal

:A4 Casual

Casual

Employability Skills

Which one is the describing word from among the words given?

‘Which one is the describing word from among the words given?

.Al Mobile phone

Mobile phone

'AZ Water

Water
A3 pun

Pull

2.0

2.0

2.0

2.0

0.00

0.00



fAA Magnificent

Magnificent
Employability Skills
75 75 A sentence is a sentence that expresses a direct , command, invitations, warning or instruction. 2.0 0.00
A sentence is a sentence that expresses a direct , command, invitations, warning or instruction.
Al .
. simple
simple
compound
compound

3. .
imperative
imperative

54 adjective

adjective




Fitter - 2nd year (Eng) SET 2

Question Number

Correct Alternative position

1 A3
2 A3
3 A2
4 A4
5 A1
6 A1
7 A1
8 A2
9 A2
10 A1
11 A2
12 A3
13 A4
14 A2
15 A2
16 A4
17 A4
18 A1
19 A4
20 A2
21 A1
22 A4
23 A1
24 A1
25 A1
26 A3
27 A4
28 A2
29 A3
30 A2
31 A3
32 A2
33 A4
34 A1
35 A4
36 A1
37 A3
38 A2
39 A3
40 A2
41 A2
42 A3
43 A4
44 A2
45 A4




46 A3
47 A1
48 A1
49 A1
50 A2
51 A3
52 A4
53 A1
54 A3
55 A4
56 A1
57 A1
58 A3
59 A2
60 A4
61 A2
62 A3
63 A2
64 A4
65 A4
66 A4
67 A1
68 A4
69 A3
70 A4
71 A3
72 A1
73 A2
74 A4
75 A3
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